THREBBLAIRESE

[ £/k 24 #£ 108 31 H Rz )

1TEX 1T L X 4 5 # 7t o ATEX 1TBLX 4 5 # 7t it ATEX 1T 4 5 L8 il JLiRGi3
1/ER 77 93 170 50 201 |'& 7 R 378 407 785 299 316 |FHABEEN 647 660 1,307 354
0) 1) | ( 1) (—TH) 2. C DI 3 (ST H) 0/ C 1 1)
2T | 383 396 779 303 202 &7 D 675 722 1,397 583 N7 HAEE— 71 70 141 47
0) 5 | C 5 (ZTH) I nIC 4 (ETH) 0 C 0 0)
3|l 78 85 163 52 203 |'E 7 FALER 5717 573 1,150 441 318 |FHAEFEIN 0 0 0 0
0) 0) | ( 0) (ZTH) 1) | ( 2) | ( 3) (U\TH) 0) | ( 0) 0)
4|07 339 427 766 333 204 |'% 7 FALER 489 515 1,004 397 321 | HE— 46 40 86 25
0) 0) | ( 0) (T H) 2) ( 2) | ( 4) (—TH1~4%H) 0) | ( 0) 0)
5— /B4 68 62 130 37 211 |J& h ik 415 419 834 330 322 \FHE— 224 236 460 142
0) 0) | ( 0) (—TH) 0) | ( 1) | ( 1) (=T HAaH) 2) | ( 2) 4)
6 — /B4 85 83 168 50 212 |J& hktk 225 254 479 182 323 | HE— 699 686 1,385 407
0) 1) | ( 1) (ZTH) 0) | ( 0) | ( 0) (=T B2 2) | ( 4) 6)
7= /M4 158 158 316 106 213 | /& htk 280 254 534 187 324 \FHEE 393 396 789 2717
0) 0 C 0 (Z=TH) N1 C 0 | ( 1) (1T H1~17%H) 0 C 0 0)
8|&EFH 155 156 311 104 214 |J& h ik 363 3717 740 300 325 | RHEE 680 712 1,392 415
0) 1) | ( 1) (MTH) 0 C 1)« 1) ENEE=")) 0 C 2 2)
9 7 H 53 43 96 27 221 |HITDOY—TH 585 620 1,205 432 326 | FKHE— 350 387 737 211
0) 1) | ( 1) 0 0|C 0 ST H1~17%H) 0 C 2 2)
10 |5t 65 60 125 37 222 | HITOY"T H 707 697 1,404 506 327 |FHFE = 886 914 1,800 521
0) 0 C 0 HIC 2C 3 (T HA) 0/ C 1 1)
11| K&E 42 47 89 23 223 |HITDOE=TH 838 828 1,666 614 328 | HF = 235 246 481 160
0) 0) | ( 0) 0) | ( 1) [ ( 1) O\T BH43k) 0) | ( 0) 0)
12|45 5% 106 90 196 52 231 HEH—TH 625 649 1,274 446 329 |FKHEF = 4 4 8 6
0) 1) | ( 1) 0) | ( 0) | ( 0) (UT BH43k) 0) | ( 0) 0)
13| K& 45 49 94 23 232|HEE_TH 794 845 1,639 579 331 | HE— 2 11 13 13
0) 0. C 0 2/ 3| 5 (— T H5~8%&H) 0 C 0 0)
14| 614 85 87 172 45 233 HEHR=TH 366 382 748 263 334 | HE = 433 419 852 318
0) 0. C 0 0 HlC 1 (T H18~28%i) I C 4 7
15|HA 96 78 174 50 241 |[H:ThkE— T B 424 443 867 265 336 | FKHE — 462 478 940 270
0) 0/ 0 0 2/ 2 (ST H18~35%i) 0/ 0 0)
16 | P8 1% H 105 123 228 63 242 |¥:ThkE T B 279 289 568 164 401 | ERER—TH 695 740 1,435 445
0) 1) | ( 1) I/ 2] 5 4) | (3 7
20 |3EAKAh 280 279 559 188 301 | MG ASH— 439 491 930 353 402 | EROKR T H 0 0 0 0
0) 0 . C 0 (—TH) 0/ 0| o0 0/C 0 0)
101 | K15 330 356 686 255 302 | MG EE— 421 461 882 356 411 | KyEKk—TH 708 728 1436 409
(—TH) 1) H C 2 (ZTH) NI 221C 3 5 C 3 8)
102 | K15 271 284 555 202 303 | HmpFE=TH 542 604 1,146 447 412 | KyEKZTH 351 368 719 221
(ZTH) 0) 0 C 0 0 2|C 2 Hn C 1 2)
111 O0&vE—TH 829 848 1,677 631 304 | HmIpGHE=— 1Y 159 195 354 163
4) I D 0 2(C 2
12|00 ETH 469 448 917 364 311 BHAEE— 582 636 1,218 412
0) 1) | ( 1) (—TH) 0) | ( 1) | ( 1)
121 |7 V—r v 261 245 506 160 312 HAEE 472 516 988 316
0) 0) | ( 0) (ZTH) 0) | ( 3) | ( 3)
140|EHDAK 222 214 436 161 13HABEE = 667 686 1,353 407
(—TH) 1) NniC 2 (Z=TH) NI 221C 3
141 |EHDAK 51 60 111 42 314|FHABEHE = 217 209 426 149
(—TH) 0) 0) | ( 0) (7T H) 3)  ( 0) | ( 3)
142 | LHDAK 345 361 706 260 315/HABEER 1,085 1,040 2,125 674
(ZTH) ( 2) | ( 6) | ( 8) (WWTH,HETH) 1) | ( 0) | ( 1)
() PIISEABGE L THVRE. (H24. 710) [ #2&%5t) B 24488 A Z 25339 A 5 49827 A 17,124
KIZU—rbe id, OJVE—T BATBIXIZE D08, ERNCEFL TWET, ( 46 N) ( 77N) ( 123A)
SCOVFAAN 1%, M7 FITE KAZ & DM, EBNZERFLTOET, [ ATAXRE] B 24458 A % 25309 A 5 49767 A 17,095
XA BLT HIOTEEAIF ATERAHRLIETYmOMIBAARE —  LEEL TWET, (# &) B 30 A % 30 A it 60 A 29 i
( 0A) ( 0A) ( 0A)




